00°008+0 INM

00°004+0 INM 00°009+0 INM

00°005+0 INM

00°00%+0 INM

00°00€+0 INM

00°00¢+0 INM

00°00L+0 INM

P

00°000+0 INA

¥6/St/1a usiumedn Ju
SMazsnyelg plenwoy

€coc L9l
VINVMOOVHdO0

P

P P

P

P

P P

<

AH1INOIMTIH | AHLINOTIA

INVIM3rodd N[N ~ NN N N N
0 vivd g kB AR eolle ek B R 5B 5 e 8 3 5 ¢ 3 B Rkl B OBER 2 3 8 3 o BB X Bl - vk | gk 2 3 5B 3 o 2 3 3 : 5 B N 2 2 3 8 g s 2 = 1050793100
005 AzomeuoxAm pjafoid WNIaNLls 8 s 8 &5 ~3S| |8 S 8 N 8 8 |8 & S & 5 = 8 SRS RIS S N & = S 8 s 3 = & = 8 = 8 [© 36 8 S NI ]S & 3 S &8 o = S 3 3 © > B S 8 8 & S S 3 & 5 S S i
/0G| EMIOX0S 001-91 _ m@touwwm.ww .ﬂ.ﬁ%sﬁ /m_:s mwomq.rua 8M m@touN_w%m.w .ML:NE& /m_>> mamﬁ_u.oua mmmm_m.oua mvmo_woua ZM LA _
‘] P{ZSNIOSOY| 9B|d ‘BONOS EUIW _ WEgTH=T (Rt / W00 0p="1 _ W26 0e=1 W07 G2=1 _ W1185=1 \ e T / W6 Z1=1 _ W H676=T W 06°66=1 W09E0r=T WSO TZ1=T1 | W16 6.=T _ WSr6r=T _ JNOIZOd MN* | 31S0Hd
VIVAS L™ 1950 |d -EHONO0S WO W_On_uwm>>z_ -00°00¢=4 bzczg z=0 \m_>> 6480/ =0 -00°00¢2=H 665g L Z=1 \m_>> \v_>> \m_>> 6960¢"0=" 6,0zt 0=
(exj0505 Auiwb 6 op) 2 2 R 2 2 3 3 3 3 % % 3 % % 3 3 3 2 2 3 3 3 3 3 3 3 3 % 3 % % 2 2 3 S v .
ZuN S | ALM3IE0 S |8 B 2 a4 kB 3 2 2 8 B 2 2 2 S 2 2 8 g S 5 2 2 3 3 2 D 2 3 2 B 3 g 3 g | JOvrAnS anas
BJOMOMOp - 89MOUBJS|d : : : : : :
7 %LZL h=0 %169 1= %017 7=0 %LLE =0 %0LG G=0 %616 L=0
IBoJp emopngazid VMZVN '98°81=1 ‘e0'Lh=1 ‘9" 9z=1 ‘98" /}=1 ‘58 /=1 6,°61=1 IMONOId 1N 1 INZNIA0d VINITAHOOd
1008=Y ‘00€L=y ‘00zL=Y ‘0051=¥ ‘000L=Y :0002=¥
ANZNAOd rONMIZYd MANNSAS NHOZASIN ALSAIN SNGHZA
: y VMZVN o |~ o |oo o [on 9 & o © o o> > /_ o | [oo » o |= = o fen o o © o o = o 2R on [on o N » olo o = e P N = o o % o PN NN N o [on 3 % N % ~ 5 o
o N [620 ][] (21 I [e] BN [e)] (0] ~ ~ al ()] ()] N a ()] ~ IS ~ [e)] a N I ~ - (o] N © (@] N  |© S w (] N ([4)] N IS 0] (e] (o] (o] N © (@] [0} ~ (o) (o) ] ()] N | (&) N ~ (o)} w N ©
[ [ [ I [ [ [ [ I i urduw 0oz9) dd
2 & 2 B 3 3 3 2 |3 3|2 et
p o > |~ o © o N o o |w
o & SIS & & & © © S|E
o = |2 N - - oo
» A T |2 K iy 2 2 A 2% —00°€9L
Y @ S |V @ 3 @ v D T3
E S E S
N 8 N U
2 2 = 2
2 5 5 5 —-00%91
/
S 100591
N
9 v
[~
+ T — / | —00'99}
.n/>_u T —— e T + —
/ lllllllllllllllllllll .ﬂ+.v ©
S — ] S S
= 3 ] - S / —00°291
8 - S / 3 ) - — | |
- ® S = . S S ] I
3 3 : — R \ . Ra—
o o % 1  — o £  /
& 4 N & + | — . X + :
S ) e & + | \ dieys waiuemoyniqo z F3 > 3 - 00'891
& efoynysuoy eurad S @ N = + //\ - 3daH Jni z 3sndazig 0°Gey+0 Wy 1sndezig . @ >
T ~ o o o +
0501 X R R S S
. / [&)] ©
o
o + 1 .
® //\ S 5 00'69}
3 dieys wealuemoyNIqo z N
N £ 3daH 41 zsndazid 0z L+0 Wy 1sndazid +
N )
w
@ —-000L)

00G/0G- 1 VIVMS

ANZN1AOd rouM4z4dd

uq
3
o
+
o
@
o
3

efoynunsuoy eujad

0‘o¢

G'900+0 W/



